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Solve the following Questions. (6x5=30)

i ;]
{=,——,——are in H.P. find k.
k'2k+1" 4k-1

Solve the system of linear equations by Cramer’s rule
2y —x,+x3 =8
X1+2xZ +2X3 =6
x1—2x2—x3 =1,
Solve the system of equations

x2 =5x+6y*=0,x>+y? =45

=, . . ; a0
Find the 6" term in the expansion of (x2 - 'z—x)

Expand by binomial theorem of (2 + x — x2)*

Prove that sec? 8 — cose?8 = tan? 8 — cot? 6

Solve the following. (3x10=30)
, ; o[+ 3 . 1.5y 1
(a)Find x and y 1f[ ~3 3y- 4] = [_3 =
a+!l a a
(b) Showthat| a a+! a |=072Ba+l)
a a a+l

(a)If A and B are non-singular matrices, then show that (4B)™! = B~14™1.

(b)Detine a reciprocal equation and give an example.

(a) Express the complex number z = 1 + iV3 in polar form.

3
(b) Simplify (=2 +2)
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Q.1. Solve the following Questions. (6x5=30)

i 11 1 : s
) It =, ——,—are in H.P. find k.
k™ 2k+1" 4k-1

(ii) Solve the system of linear equations by Cramer’s rule
2x1 — X3+ X3 = 8
x1+2x2 +24'C3 =6
Xy =2x—x3=1

(iii) Solve the system of equations

x2—5x+6y*=0,x2+y2 =45

i o . . ; 3\10
(%) Find the 6" term in the expansion of (xz - ;)

(v)  Expand by binomial theorem of (2 + x — x*)*

(vi)  Prove that sec? 8 — cose?6 = tan? @ — cot? 6

Solve the following. (3x10=30)
Q2 . . ofx+3 1 ] Iy 1
(a)Find x and y if 3 3y-4 [_3 9x
‘ a+!l a a
(b) Showthat{ a a+! a [=[*Ba+l)
a a a+l
Q.3 (a)lf A4 and B are non-singular matrices, then show that (AB)™* = B~14%

(b)Detine a reciprocal equation and give an example.

Q.4 (a) Express the complex number z = 1 + iV3 in polar form.

3
(b) Simplify (=2 + %)



